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2. IR-WFH T 7T ST Ashrieh, fawar, W -v ot @l e @ WS sifeha it 79T IT-IF
HeATe T fora ST oiR Sueh! foriert wt arsaefi & gt |
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T SIS TR g g |
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IOk | ITHTEER g1 & T wera 3wt & ferw gue R s |
(1) ST 7 3 fore TR Sehfreh I | Sefiea ET e v ¥ R R 1w e e 3R 3 e we
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A. Teqfe™ 1, =
B. %I3% 2. 5
C. GEIg=H 3. .
D. Frsish 4. ()
He:

A  B.,€ D
(@) 2 1 3 4
1 T S T
Rl -8 2 4
sy, 4.2 . 1
‘Iery’ =1 faeim B
(a) Tl (b) ek
(c) s (d) e
SISt § 9 2
(a) eged (b) IrefiuE
(c) &% (d) FHaR
“Frsfifersr =61 a7 2
BEEEE (b) e <l 3=
(c) WUFR H =81 (d) Teled 321

G TETR Ao fRar - 9 § TR TR
fora w1 SR R 7

(a) SOl BRECZED

(c) §gH (d) Fefhrfersh

aredlt 7 w1y ST — qRTet o ael 1 B
(a) TE @I T

(b) STTET T ATH ISHT

(c) STaTR ! TATE AT

(d) 3TEER = gEATHA

7.

10.

4 B

12.

13.

14.
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‘W’Waﬁﬁqﬂmwﬁ%mﬁﬁdﬁa
IuE T T S ?

(a) = (b) 1
(c) 3 (d) TR
¥1eg T 1 g A T Tk g AT §

(@) TmEATY TR T Fw TS T AR W A
SFIAEGIATR |

(b) TST &RT== % TgvA s Tegaral Tl g3 |

(c) T 3 =1 9T Y =0T HE © |

(d) TH=R Yo A 3T T ol T T |

e’ § Frefefiad § @ - w@fa @ ?

(a) < (b) =T

(c) Ff& (d) o

TEwEqUl i FTE I I Y et 7 A
o aeh o forei w7

(a) TS =t | (b) oTadh seft #
RESEIGIE: EEEIEISIE:
frferfiaa o @ adi gm gfm |

(a) TrefreT - gamTEd

(b) TG — HITEHT

REIERS: 2

(d) el ~ Rl

‘377’ 1 Y TE ®

(a) RIS AR (b) TvRY & foa
(c) weft (d) e, fors, R
Frfafaa & Saar &1 yaigar 7 ®
(a) foert (b) fagy

(c) Torget (d) e

‘2 TeFaT & 98 T B - 99 ®

(a) @ ada  (b) |fw adHH
(c) T¥ITsT FAHH (d) 31qet FdaH
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15> Teferfiaa § & Y@ o+ arer ee &
(a) FaT (b) afies
(o) fore (d) i
16. T&=) sreseerisr § ‘& k1 o0 30 © form ool & W
HaTar e ?
(a) ® (b) ®
(c) * (d) §

17. Fefefad 3 qeom-agee s e 3@ ?

(@) T - Ta@d (b) YehaTH - UShA
(c) gy - e (d) e - 3
18. Ta=foiRaa o & for vreq § wamtierss Iuert ot ST
g E 7
(a) STgHTOT (b) - Freee
(c) AT (d) 3T

9 WEAT 19 ¥ 23 % foru

ST TTITYT ohT €14 © UfgU aeil Y99 O 19 4 23
% 3T 39 T o YR W T |

Sepfcl 3 TTa St i sgd Tt s R, g o
1 A A Sie - § & g g i ga-agfy
T A o TATE H 3G SIde SATaT ST LT ® | 39 Sifderar
o ST HER | G- FEH, gardiv-garsgy, gaman-
Fregam avt g@-wnf~i <t = @ wad €, foieg T8 vehsd
& 3118 W Y, we-wifrent 3 fer o sidt Y, gued o
 yiicreral s =18 w@d @ | fagFi o foem 2 % gan o
Y@ 1 °Al @ -~ Teraad | foheg 7a 59 Wil sl seet
TrETies weret H, 3w fawe i mif § s de @i |
TIOTTH: G o | H Saal ST T&T & | STICHEaH T Jr
3 H Fgd T 8, Iqh! e fehet oft shrer F ohw
et | 3f= ot o v € srrenEan B | sitfoes ve %
wifct 35 1 Yoot sreRdor ATt 3@t 1 e RO A
TR | SIS St o thertd o 98 SR g §

A
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e B o7 TR | R UH el | A W st
2 T 3 ofifosk vared g@ ot % weRd €, 3= 7 | 3t
1 feit it trerem & geat § | 3w frew stfrd=ria
AR 1T Bt § | 39 fomw & wvy@ vA-wufy, @@,
died =1 g@, TR F @R IHT ST o o § |

STCHHIH =T a1 &

(a) 7ot 3TeT X T

(b) 1ot wraATedt w1 e

(c) 9 T =T TR

(d) 3f=a o forwr 3 wfer SmmeRdor W HEHA

AT 1 Hel JaA Ovelyor 8
(@) A qa AT AFIqA
(b) HAqAATTY3IqH
(©EqaeIq

(d) I3 qA

19.

20.

21. 311 I I St ol A Sl F T @I 7
(a) g@-wf=i <l Wifed o yoma §

(b) 19T AT HAM F T o

(c) wER hil gE-ugfg H 7S & o §

(d) STeifia eeraTstt Sl U i Y =g §

TRITT o STTAR Hfiferen gared

(a) G@ < Hehd & 37T 3T 3 Thdl &
(b) heret 3T < Tohd &

(c) 7 gE@ 3 Tehd T 3T T 7=

(d) @ < Fohd & Tohrg o7 e

22.

siifeer weraf % g 34t =1 werer stepdor &
(2) AT FHEUIT T FHIRT

(b) ATET F@i T HA HROT

(c) STHTT et T T

(d) wE T g:@ T Het T

23.

-3-



24. Which of the following options has

the correct passive voice form of the

following sentence ?

‘Lock up that house.’

(a) Let that house be locking up by
you.

(b) Let that house locked up by you.

(c) Let that house be locked up.

(d) Let that house being locked up.

25. Which of these words is wrongly spelt ?

(a) ambition (b) institution

(c) collection (d) transmition

26. Fill in the blank in the given sentence

by choosing the correct option.

No sooner did she arrive they

started laughing.

(a) than

(c) then

(b) when

(d) that

27. Choose the correct indirect speech of

the given sentence.

The doctor said to me, “Take this

medicine twice a day”.

(a) The doctor told me that I should
take that medicine twice a day.

(b) The doctor said to me that I would
eat that medicine twice a day.

(c) The doctor asked me that I should
take that medicine two times a
day.

(d) The doctor advised me to take that
medicine twice a day.

28. Choose the appropriate meaning of the

phrase “put up with”.

(a) tolerate

(b) put on a high place

(c) put clothes on

(d) keep safe

Instruction for Question Nos. 29 to 32 :

Read the following passage carefully and
answer the following questions that follow :

When I go into a stranger’s personal
library, I wander round the bookshelves to
learn what sort of person the stranger is and
when he comes in, I feel that I know the key
to his mind and the range of his interests. A
house without books is a characterless house,
no matter how rich its owner is. The rich

A
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decoration of the drawing room and bedr&ém
and the luxurious bathrooms tells us that the
man is wealthy but the books tell you whether
he has got a mind as well. It is not a question
of money that we do not buy good books or
maintain a library of good books. I repeat
that the books are the cheapest and the best
part of the equipment of a few dollars. Nearly
all the best literature in the world is at your
command at two dollars a volume. For 100
dollars you can get a library of fifty books.
Even if you do not read them yourself, they are
a priceless investment for your children. What
delight is there like the revelation of books
— the sudden impact of a master-spirit, the
sense of a window flung open to the universe ?
It is the adventure of the mind, the joy of which
does not pass away, that gives the adventure
of life itself beauty and fragrance.

29. Books are important for

(a) the person only, who buys them
(b) the coming generation

(c) the buyer and his next generation
(d) all citizens

30. What delight does a good book provide ?

(a) It tells about the character of its
owner

(b) It helps the owner earn a lot of
money

(c) It opens the window to the
universe

(d) It is a great treasure of wealth

31. How can we command the best of world

literature ?

(a) By establishing a huge library in
our city

(b) By purchasing a volume pricing
two dollars only

(c) By purchasing all the good books
of the world

(d) By downloading the pdf of the best
books of the world

32. The compound word ‘master-spirit’ in

the passage means

(a) a master of spirits

(b) the spiritual effect of a master

(c) the controller of men

(d) the controlling spirit
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34.

35.

36.

In order to satisfy the psychological
needs of competence, relatedness and
autonomy, an effective repertoire of
which skills are necessary ?

(a) repetitive skills

(b) aggressive skills

(c) precision skills

(d) interpersonal skills

Assertion (A) : Moon cannot be used as
a satellite for communication.

Reason (R) : Moon does not move in the

equatorial plane of the earth.

Choose your answer from the options

given below.

(a) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(b) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which one of the following is NOT a
number of the series ?

1, 8, 27, 64, 125, . . .
(a) 256 (b) 512
(c) 729 (d) 1000

The optimal way for effective problem

solving is

(a) to balance distinctiveness and
processing

(b) to balance conventional and
non-conventional thinking

(c) to balance egocentrism and biases

(d) to balance assumption and
inference

33.

34.

35.

36.
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EHAT, FegaT 7 Wl o) qaaqTe
HEARIHATIT Rl GU A % ToIw fo wrerat st
T YT HER A1avas 2 ?

(a) STgfTF wrere

(b) STEHTH IS H1

(c) w&wﬁwﬁw

(d) eTaafer v F@

T (A) : HER o TTC =177 <61 e 3R & &9
T w2 7 R s a2 |

T (R) : F5A1 2= o e wag & fenm
FE T |
e srenforfa feredl # @ 3w #1 =9 Hifve |

(a) EHT (A) 7T (R) e 8 3 (R), (A) Y @&
T &

(b) BT (A) 79T (R) Ted & W (R), (A) 0 aet
T T8 ®

(c) (A) 9 & W (R) 379cd B
(d) (A) 318 & 9 (R) e &

frfafea & 4 - ot i ger g ?
1, 8, 27, 64, 125, . . .

(a) 256
(c) 729

(b) 512
(d) 1000

THTE ST GHIYT 1 35200 &1 &

(a) Tafirsear va wehmur =t wqfera s

(b) IREE Td T-uryfEs fwq &
Hgferd T

(c) Serehesar T SAfAfeRt 1

(d) sfiremon g srgfif i wgfera s
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37. Which of the following character placed | 37. 331 fog (?) % ®H W frafefaa & @ s

at the sign of question mark (?) to mﬁfé{wﬁtmm%?
complete the matrix ?

4C 2B | 3A
4C 2B | 3A

28B ? 45B
28B ? 45B

7B 5A | 15C
7B 5A | 15C

(a) 7C (a) 7C
(b) 10C (b) 10C
(c) 12C (c) 12C
(d) 13C (d) 13C
38. The objective of decision making 38, Tl o 1 3539 BT AR
should be

() To make th h (a) TE} forehe = Frufeor

a) To make the correct choice

(b) To make the best choice (b) gdas fershed =1 et
(c) To make the risky choice (c) ShRem R ferehea =1 ferfor
(d) To make the reinforced choice (d) afera frepeq 1 frefwor

39. The minimum number of colours | 39. %mqq%waﬂwﬁﬁwmﬁﬁzm%

required to paint all faces of a cube, %‘Qﬁfﬁﬁéﬁﬁmﬁ%fﬂwqﬁ, o
that no two adjacent faces may have the

; Y o fra Tt <Y STrawasaT € 7
same colour, is
(a) 1 (a) 1
(b) 2 (b) 2
(c) 3 (c) 3
(d) 6 (d) 6
40. What approximate percentage of 40. =afFd % w@ gua & e e wfawa 9
individual’s working hours is engaged sTadafaTs gy § SR e e ¢
in interpersonal communication ?
(a) 80 - 90%
(a) 80 - 90%
(b) 60 — 70% (b) 60~ 70%
(c) 100% (c) 100%
(d) 40 — 50% (d) 40 — 50%

A -6-
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42,

43.

44.

45.

Controversy always involves
(a) Revenge

(b) Anger

(c) Passion

(d) Disagreement

A plane left 30 minutes later than the
scheduled time and in order to reach its
destination 1500 km away in time it has
to increase its speed by 250 km/h from
its usual speed. The usual speed is

(a) 500 km/h

(b) 600 km/h

(c) 750 km/h

(d) 900 km/h

Creative problem solving is associated
with

(a) Convergent thinking

(b) Group think

(c) Active listening

(d) Divergent thinking

If x, y, z are positive integers such that
Xx:y=1:2andy:z=3:5, then which
one of the following will be possible value
of 5x -3y +2z?
(a) 180
(c) 196

(b) 190
(d) 200

In problem solving the present
information is converted into

(a) mental temperament
(b) mental background
(c) external mental representation

(d) internal mental representation

B i

41.

42.

43.

44,

45.
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Torare wea gfea o @
(a) Sfaeme

(b) shrer

(c) I3

(d) Ha¥g

T agae o9+ Feifa gww @ 30 fime 30 @
31 3R H 1500 for. Y. g 319 i W amg |
uga o fog sroht fraffea wfa o 250 fRoft, /51,
T ygar ¢ | Fuffa nfa R

(a) 500 T . /9.
(b) 600 fo.Ht. /5.
(c) 750 .. /4.
(d) 900 fe.Ht. /4.

GSHICHS: THET G Fraf-od @
() STfrEm o @

(b) TE &= |

(c) s zraor &

(d) vard o |

Hﬁxy,zwmﬁ‘fﬁiﬁ??ﬁm%ﬁ x:y=1:2
My : z = 3 : 5, @ F=Afcfea & & FF-ar
5x — 3y + z T G&E HIH BT 7
(a) 180 (b) 190
(c) 196 (d) 200

G G § Sd9 STHehR] ol ®iaid o
EIGIE

(a) AMTEe famsfa o

(b) wrereh geayfhr §

(c) sTer rferes wiafaferea &

(d) afes wrfees gfafafiea o




46. Ifthe day before yesterday was Saturday,
what day will be on the day after

tomorrow ?

(a) Friday

(b) Thursday
(c) Wednesday
(d) Tuesday

47. Which of the following is NOT an obstacle

in mindful listening ?
(a) prejudgement

(b) dual perspective

(c) message overload
(d) message complexity

48. Count the triangles in the following

diagram and find the correct answer.

(a) 14
(c) 16

(b) 18
(d) 20

49. Pointing towards a person, a man said
to a woman “His mother is the only
daughter of your father”. How is the

woman related to that person ?
(a) sister

(b) wife

(c) mother

(d) daughter

SMRN-2 - 21

46. afe =i Fet ¥ vea & A ivam o, @ o
el o a8 k-1 faT g ?
(a) ThaT
(b) Tea
(c) gHaR
(d) FTEER

frfefaa 3 & 9 g9aT g d amaraEi @ ?
(a) v

(b) f5= gfeaptor

(c) Faw Afaur

(d) w2 SAfeerar

47,

Frferfaa Tarfes & fygst it e Aifsig aen
el I 9T IS |

48.

(a) 14
(c) 16

(b) 18
(d) 20

e =4 fefel ohl A Hohd 3l g4 Uh STGHT = Toh HfgedT
H e - “Iah At gren e i gt B R
I ufea 30 =afF & o yon geifta @ 7

(a) =&

(b) et

(c) Ardr

(d) Tt

49,




5 ‘ with reference to decision making,
¥ which statement(s) is/are correct ?

51.

52.

53.

1. Human rationality is limited.
2. Any individual can improve his
decision making through practice.

Select the correct answer using the
codes given below.
Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct

(d) Neither 1 nor 2 is correct

Which one of the following model
emphasizes on the dynamism of
interpersonal communication ?

(a) Linear model

(b) Interactive model

(c) Transactional model -
(d) None of the above

The correct word in place of ‘?’in
FISH : CLPK : : NOSE : ?is

(a) KPLC

(b) LKCP

(c) KLPC

(d) KRPH

In the context of decision making
personal probabilities are commonly
referred to as

(a) Social probabilities

(b) Adjustable probabilities

(c) Subjective probabilities

(d) Non-functional probabilities

SMRN-2 - 21

50. ﬁﬁﬂéﬁ%éﬁﬁfiaﬁﬁ—mlﬁwaﬁ%lﬁ?

1 e e Hifd € |

2.ﬁ§tﬁsaﬁﬁammﬁmmﬁamﬁvh
2 T T R EH © |

3 fou T Fe F AT HHG TR B A

EaIi

e -

(o) Fae 1 TR R

(b) Faw 2 TE R

(©) 1 3 2 3w ®

(d)a??naﬂwémw%

| e i & wE-w T e RCRICTCR il

£ e T e 31§ 7
(a)mﬁw

() 7B Sfaed

(c) TR e

(d) T H & g T

FISH : CLPK : : NOSE : ? |
3 T T UE TR §

(a) KPLC

(b) LKCP

(c) KLPC

(d) KRPH

; ﬁﬂhﬂﬁ%é‘c"ﬁﬁ,sﬁﬁ‘ﬁmm&ﬁﬁ

STAR T ShET S 8
(a) TTHTISTER GEHTAT
(b) RIS FFTAT
(c) HATCHIAES AT
(d) SSThTETeHe FEHTedT
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54. Choose the pair in which words are 54. tja;aﬁaqﬁgtaﬁ\uﬂgrqaqaqq‘ﬂﬁqj 74;

differently related. (a) 3Ty : zve
(a) Crime : Punishment

(b) Judgement - Advocacy (b) Fivfa : FTera
(¢) Enterprise : Success (c) e : wweTa
(d) Exercise : Health (d) =Ty : ey

55. The most frequently cited source of 55, SrTeafRer 9oy w5 ey e Igga g 2

interpersonal conflict is

(2) TS W
(a) Organizationa] norms
b) FASR Yoy
(b) Poor communication i ‘
(c) Structural configuration () Ft=TeR=h famrg
(d) Social pressure (d) \mTfST gare
6. By arranging the following words 56. Ffafen weat AU Yoy & AR
according to the English dictionary, find TR T 3152 gy Hifvra |
the third word. . ;
Queasy, Queen, Quality, Question, Queasy, Queen, Quality, Question,
Quarter Quarter '
(@) Quality (b) Queasy (@) Quality (b) Queasy
(c) Quarter (d) Queen (c) Quarter (d) Queen

S7. The following table shows the distribution | 57, fiey gof 1000 et & wrefes a3

of weekly salary (in ) of 1000 workers : oo 7y (X #) wefifq FAR
Weekly Salary No. of Workers_— [—W e wHETREy ) maﬂ
__Less than 50 40 50 3 %n 40
S1-75 120 51-75 120
76 - 100 200 ] 76 - 100 200
101 - 125 300 101 - 125 300
126 - 150 150 126 - 150 150
151-175 100 oy 151-175 100
176 - 200 55 176 - 200 55
201 and above 35 201 @R 3fip 35
The percentage of workers with weekly V1258 FH a0 T 125 7 HISiTfeeh S ury
salary less than and upto ¥ 125 is I mﬁﬁmg&m%
(a) 81 (b) 66 (a) 81 (b) 66
(©) 34 d 19 (c) 34 (d) 19

-10-




. %Use of analogy in problem solving means
(a) application of techniques that were
used in the past similar situations
(b) importance of escalation of
commitment
(c) elucidating

(d) uncertainty of techniques

59. In an examination, the distribution of
marks obtained by 30 students is given

in the following table :

Marks
(Class Interval)

10-25
25 -40

No. of Students

40 -55

70 - 85

2

3

7

55-70 6
6

6

85— 100

The mode of the data is
(a) 50
(b) 52
(c) 54
(d) 55

If the ratio of the outer and inner
perimeters of & circular path is 23 : 22 and
the path is 5 m wide, then the diameter
of the inner circle will be

(a) 55 m

(b) 110 m
(c) 220 m
(d) 230 m

60.

58.

59,

60.

A -11-

1 I 23 0o 2 e amt 5 . e &, @
ST J %1 AT B

(a) 55 .

(b) 110 H.
(c) 220 .
(d) 230 .




61.

62,

63.

Correct ?

1. Afn efficient Communication is not
always effective,

2. An effective communication ig not
always efficient,

Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

Seven poles P, Q, RS, T 11 and V are put
in such a way that the distance between
the next two decreases by 1 metre. The
distance between the first two poles P
and Qis 10 metres. What is the distance
between first pole P and the Jast pole V ?

(@) 42 metre
(b) 45 metre
(¢) 48 metre
(d) 50 metre

ABC is g triangle in which AB = 3 cm,
BC=4cmang 4B =90°, The circle with
diameter AB intersects AC at D and
tangent to the circle at D intersects BC
at E. Then EC is equal to

(@) 1.8 cm
(b) 2.0 cm
(c) 2.5 cm
(d) 3.0 cm
-12.
\ Y

61.

62.

63.

évmﬁﬁaiﬁuﬁ-mmﬁm%a#asfﬁﬁw%@m
ﬁz}ﬁ:r-m/ﬁmuﬁ%/% ?
1.@3&1%@3%%&%%

2, Qensma‘mtﬁ‘waéawqﬁém%l
ﬁﬁaﬁ?wmwwwmmaﬁrﬁq:
He :

(a) Faer 1 w2

(b) Faet 2 w2

(¢) 1 3R 2 3 wet §

(@71 T 2wy 3

#G @™ P, Q, R, §, TLUdnV smaywr gy
m@%%w@a‘r@rﬁ%aﬁaﬁgﬁlrﬂa
ma‘ﬁﬁwﬁ%mﬁa‘r@tﬁpaﬂm%a‘hﬁ
q\ﬂlonﬁa%mﬁé@tﬁpwaﬁqmv%
o4 et gt & 7

(a) 42 wiex

(b) 45 g

(c) 48 Hiex

(d) 50 tex

ABC T et R AR = 3 d, BC =41
@I £B = 9p° | =8 AB 9161 99 AC %1 D 5
wﬁﬁ}ﬁﬁw%aﬁt%sﬁbwwﬁ@m
aﬁEuwf‘Prt%f%aaﬂa?% | 951 EC syem &
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65.

66.

67.

68.

- Communication among members of the
- same group is

(a) downward communication
(b) lateral communication
(c) optimum communication

(d) upward communication

“Duma’is related to ‘Russia’in the same

way as ‘Shora’ is related to
(a) Afghanistan

(b) Germany

(c) France

(d) Malaysia

If the code for TALENT is XEPIRX, how
will you code SEARCH ?

(a) WEDVGL
(b) WFDUGL
(c) WGEVGL
(d) WIEVGL

Purposely manipulating information in
communication process is called

(a) Filtering
(b) Assertiveness
(c) Deviance

(d) Abstraction

If in a code language PAINT is written as
74128 and EXCEL as 93596, then how
will ACCEPT be written in that code ?

(a) 455978 (b) 544978
(c) 554978 (d) 733961

64.

65.

66.

67.

68.
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T TYE % T & AL TR B
(a) JremTTHY T |
DRUTEER =Ll

(c) TZam FEIWUT

(d) STt TSmOy

‘gAY T T B § I THR T I\ TR
R BT TS §

(a) M &

(b) St &

(c) BE &

(d) Ty |

Ife TALENT 1 ¢ XEPIRX &, @ 319
SEARCH %! & e ¥ ferdht ?

(a) WEDVGL
(b) WFDUGL
(c) WGEVGL
(d) WIEVGL

FEINOT SfshaT H ATl STHEFE ol-%L L,
ETInI

(a)ﬁ'{?iﬂ?{

(b) gEATHhT

(c)ﬁ%ﬁﬂ

(d) 3rggiaT

gy forelt e W | PAINT #l 74128 foran
ST & 3fR EXCEL %1 93596 & @, 3t e &
ACCEPT #! & forar s ?

(a) 455978 (b) 544978
(c) 554978 (d) 733961
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69.

Sonia sold an article at a gain of 16%.
If she had bought at 4% less and sold
it for ¥ 8 more, she would have gained
25%. The cost price of the article was

(a) T 225

- (b) 200 -

70.

TE.

72,

(c) T 250
(d) T 220

‘Sleeping on a problem’ is a form of
{é) Abstraction

(b) Emotional instability

(é) Incubation

(d) Passiveness

In a survey of 60 people, it was found
that 25 people read newspaper H,
26 read newspaper T, 26 read newspaper
I, 9 read both H and I, 11 read both H
and T, 8 read both T and I and 3 read
all the three. The number of people, who
read exactly one newspaper, is

(a) 21

(b) 25

{c) 30

(d) 52

If 4+’ means X’, “” means +, ‘X’ means ‘+’

._and “’means “’, then which one of the

following equations is correct ?
(@) 18 +6-4x2+3=26
(b) 18+ 6+4-2+3=22

() 18-6%x7+2+8=63

(d) 18X6-4+7x 8 =47

-14-
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69. WY T TG 16% o WA | R IR
4% 9 T EiaT grar 3R T 8 Aftrsh WA g,
Tl 38 25% T firerar | a%g 1w ged o
(a) T 225
(b) ¥ 200
(c) 250
(d) T 220
70. ‘wHE R 5 e yen §
(a) 37egctart st
(b) HaTTeHh TR
(c) ST T
(d) Tifshaar =
71. 60 =afFaal & wagwr o qray w 6 25 =fF
FHERYA H 9gd ¥, 26 G9NENYS T 94 8,
26 GRS [ 9gd €, 9 aMi H 3K I ved &,
11 3H H 3R T 9gd €, 8 31 T 3K [ 9 &
aur 3 Tt offl wed § | =afaral < wen, s Faw
T GHERYS 9ed §, B
(a) 21
(b) 25
(c) 30
(d) 52
72. AR+ @ ad %, O e ) % w e 4
aur < o e < /Y, A Fefefaa e §
gHA-wradi g ?
(@) 18+6-4x2+3=26
(b) 18 +6+4-2+3=22
(0 18-6x7+2+8=63
(d) 18X6-4+7x8=47
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@ Communication will be effective, if it is

T4,

75.

(a) delivered slowly and clearly
(b) delivered using appropriate media

(c) received as intended by the sender

(d) received immediately

Which option is/are to be followed ?

Statements : Some fruits are flowers.
No flower is a boat.
All boats are rivers.

Conclusion : I. Some fruits are rivers.
II. Some rivers are boats.
III. Some rivers are fruits.
V. Some flowers are fruits.
Codes :
(a) Only I and III follow
(b) Only II and 1II follow
(c) Only II and IV follow
(d) None of the above

The median of the following distribution
is 28.5, the values of x and y are
respectively

Class Interval | Frequency
0-10 5
10-20 X
20 - 30 20
30 -40 15
40 - 50 y
50 - 60 5

where the total frequency is 60

(a) 6,9 (b) 9,6

(c) 7,8 (d) 8,7

([ 5™

74.
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73, GER wAmE e, At T8

(a) Hit 37 Twe w7 @ T s

(b) I TR 3 I & fo S
(c)aﬁmg%ﬂwﬁm%mm
(d) Treshret STTeat fepert ST

for Foremeq o1 ST foRa ST B /% 7

FUA: FOHAFAE |
I3 el 19 TG |
aeft A A E

fremd : 1. O HATE |
11, %% ARl T € |

1. o A P e |
IV. S FAFAE |

He :

(@) et 1 aT 111 i 8 8
(b) aer 1 @ 11 TR 8 @
(c)aaaansﬂuvaqgaﬁﬁaﬁ%

(d) SRt | & 1% TR

2 ) By ) e T WTes 28,5 %, A x 3R

y F HHE FHHM: B
Tt A FHERAT
0-10 5
10 - 20 X
20 - 30 20
30-40 18
40 - 50 y
50 - 60
e et SRRt 60 &
(a) 6,9 (b) 9,6
() 7,8 (d) 8,7
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76. At what rate of compound interest per 76. Torg affs THgfg A F WY T 1’20Qﬁ

annum will a sum of ¥ 1,200 becomes FORT 2 It 7 1 348.32 & Srwft ?
%1,348.32in 2 years ?

%
(a) 4% (a) 4%
5 (b) 3%
(c) 6% (c) 6%
(d) 5% (d) 5%
77. Communication that saves time 7%. aamﬁwa’rﬁﬂﬁthaqﬁmm% 3R

and facilitates co-ordination in an

FH I WES ST R, FHRera @
organization is called

(a) neutral communication ) et
(b) upward communication (b) Frefft Gy
(c) lateral communication (c) wTfeia Ty
(d) downward communication (d) SrerTTH gy

78. If ABC is an isosceles triangle with | 78, R ABC o wmfzamg iy 3, it AB = Ac,
AB=AC.EandFarepointsonBCand EaﬂIFW:BCGﬂIACW@ﬁE%%

AC respectively such that AE = AF. If AE = AF |9 /BAE = 40°, /1 LFEC st 2
£BAE = 40°, then ZFEC is equal to

@ 10° (@) 10°
(b) 20° (b) 20°
(o) 25° (c) 25°
(d) 40° (d) 40°

79. Which one of the following word can 79. PROFESSIONAL’ ¥Is5 % a7&rl & feififiag

NOT be formed using the letters of the ¥ q F-97 T Y1o€ T 191 51 qFar & 7
word PROFESSIONAL’ ?

(a) PASSION (a) PASSION
a
(b) FINAL (b) FINAL
(c) NORMAL (c) NORMAL
(d) LESSION (@) LESSION
A -16-
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- 30 @Which one of the following is NOT | 80. ﬁuﬁﬁﬁﬁﬁaﬁ:—mmmﬁnﬁﬁmﬁ

included in paralanguage ? afmfeaEie ?
(a) Voice quality (a) SATETST TOTEEI
(b) Verbal interaction (b) Hifla fa:fa
(c) Speech rate (c) EICRIT]
(d) Pitch (d) &EH
31. Ifa+b+c=3,theva1ueof | 8l. Hﬁa+b+c=3,?ﬁ
1-a@+@1-b®+(1-0°-301-2 (1-a+(1-Db3+(1-0°-301-2)
(1-b)(1-c)is (1-b)(1-c)FAAE
(a) 27 (@) 27
(b) 8 (b) 8
() 1 (€ 1
(d) 0 (CYRY

82. After watching a football match between | 82. 2 e At 3 o T g i SEA % R

two parallel teams, person insists that T ST S G e 2 5 9% e | S o
he beforehand knew that the particular 5 o 2 (R 2m) He T of | B
team (winner team) was going to win.
iy IAE R
This is an example of
(a) |YE W H

(a) Group think

(b) Subliminal problem solving
(c) False consensus effect (c) g\%q,'?f e JHTE &
(d) Hindsight bias (d) Tva gfe il =

(b) SEIaH THET HHIET 1

83. When a polynomial p(x) is divided by | 83. S fopet Tgae plx) A (x - 1) st (x-2) @

(x - 1) and (x - 2) it leaves remainders 5 SRra foram STaT &, A s SRS 5T 7 @l
and 7 respectively. What is the remainder 3 | 7o SEE T S plx) F (x— 1) (x-2)
when p(x) is divided by (x-1) (x-2) ? 3 fyenrfre o s ?

(@) 2x + 1 (@) 2x + 1

(b) 2x - 1 (b) 2x - 1

(c) 2x-3 (c) 2x-3

(d) 2x + 3 (d) 2x + 3

A -17-
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84. What will be the minimum value of x

85.

86.

87.

for which the number {8(x+63)+ 640} is
completely divisible by 17 ?
(a) 82

(b) 24

(c) 7

(d) 3

If a person attempt to solve a problem

on the basis of his bast experience, it is
called

(a) functional fixedness
(b) mental set

(c) transfer effect

(d) confirmation bias

Arrange the following in correct order.

1. Chest 2. Forehead
3. Stomach 4, Ear
S. Leg 6. Chin

(@ 1,2,4,6, 3,5
(b) 2,4,6,1, 3,5
(€) 5;4.2,6,1,3
d) 1,4,2,3,6,5

Which one of the following is a version of
divide-and-conquer strategy’in problem
solving ?

(a) Analogy
(b) Trial and error
(c) Means-end analysis

(d) Hypothesis testing

-18-
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84. xmwmwmﬁﬁ%ﬁé@f‘i

3(x+63)+ 640} T e 17 & ffom a) 7
(a) 82

(b) 24

() 7

(d) 3

85. aﬁaﬁiaﬁrﬁﬂﬁwmwmw

86.

87.

[ W

%wwa@mmw%ﬁ@maﬁ%
() YerrTeres fedmar

(b) " =g

(c) 37T gsyg

(d) gfsEeoT yararg
ﬁ#ﬁmﬁ@mﬁmﬁa%a
1. Bt 2. Adme

3. 92 4. FH

5. % 6. 3

(@) 1,2,4,6,3,5
(b) 2,4,6,1, 3,5
(c) 5,4,2,6, 1, 3
d) 1,4,2,3,6, 5

ﬁm%f@aﬁﬁaﬁq—mmmqﬁ'ﬁmﬁa
E&aﬂﬁﬂ'cﬁ—rvm"r%’wwéw%?

() HrgwEr

(b) ¥&e T g

(c) Tre-aTey faveror

(d) TReFeTT ey




89.

90.

91.

92.

4 %Choose the pair of numbers which is

different from others.
(a) 14, 12 (b) 28,6
(c) 34,6 (@) 42, 4

According to ‘Communication as mutual
transaction model’, interaction between
people is

(a) interpretive

(b) interactive

(c) simultaneous

(d) simultaneously interactive

One morning after sunrise, Mohan and
Sohan were standing in a lawn with
their backs towards each other. Mohan’s
shadow fell exactly towards left hand side.
Which direction was Sohan’s face ?

(a) East

(b) West

(c) North

(d) South

The sum of deviations of a set of
observations, X, Xp, -++» ¥n measured
from 50is— 10 and the sum of deviations

from 46 is 70, then the number of
observations is

(a) 40
(b) 30
(c) 20
(d) 10

The problem solving process is essentially
an excursion through

(a) Mental fixedness
(b) Response fixedness
(c) Problem space

(d) Active perspective

88.

89.

90.

a1,

92.
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ﬁ@ﬁ%@ﬂww@ﬁqﬁhm%ﬁw%1
(b) 28, 6
(d) 42, 4

(a) 14, 12
(c) 34,6

‘wﬁam—ﬁ%wﬁwﬁwﬁm’ 3 ITEN,
it 3 wea oA @

(a) SATEATHS

(b) 37 fsmaTceh

(€) Heam RIS

() TEhITeT 70 SRt

@w%mﬁwﬁmﬁﬂ@aﬁ@aﬁﬁ@
TR A ACHEFH TS | Tireet &1 ST 36k S
arff st T W R | g e R R AR Y
() I

(b) ufe=d

(c) W

(d) f&rr

Y0 3 THE Xq, Xop w00 X, 50%%&@
Tt & A - 10%34*\1461‘1%%@1%1%:?['

1 A 70%,@&@%@%
(a) 40
(b) 30
(c) 20
(d) 10

amwmmaﬁaﬁm@f@w%
(a)m:rﬁﬁ@m%wﬁszx

(b) e feeran 3 wre ¥
(c)qmqﬁaa%mmﬁ
(d)aﬁaqﬁgu%mw@f




93. A,Band Ccandoa work in 20, 30 and
60 days respectively. In how many days
can A complete the work, if he is assisted
by B and C on every third day ?
(a) 12
(b) 15
(c) 16
(d) 18

94. Which one of the following is a basic
method of effecting behavioura] change ?
(a) Communication
(b) Recording
(c) Optimal rest
(d) Rhythmic evaluation

95. How many numbers from 1 to 100 are | 95,

there each of which is no

t only exactly
divisible by 4 byt also has 4 as g digit ?
(a) 7
(b) 10
(c) 20
(d) 21

96. Find the wrong number in

the following 96.
series :
7, 28, 63, 124, 215, 342, 511
(a) 7 (b) 28
(c) 124 (d) 215

97. Which one of the following is NOT a way | 97,
of thinking in order to solve problems ?

(a) Algorithm
(b) Trial and error

(c) Heuristics

(d) Anagrams

-20-
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i
93. A, B 3R C foreht %1 = g 20, 3&-‘ 60 -

ﬁﬁﬁwm%fﬁﬁﬁﬁﬁAWaﬂ#ﬁ{n
wm%,zrﬁagmmﬁﬁqsaﬁtcm
HETIAT TS LT & 7

(@) 12

(b) 15

(c) 16

(d) 18

94, ﬁw%%aﬁﬁwwhaﬁqaﬁmﬁam?ﬁ

STHRYT wTfafYy s -wft 7

(a) TEsyo

(b) tfirerEs

(c) =9 fagm

(d) TS Heie

1 9 100 T 1 Frereft et & 7 et 4
q?famﬁwrﬁwﬁfa'%aﬁwﬂaiwﬁa‘r?
(a) 7

(b) 10

(c) 20

(d) 21
ﬁw%ﬁgaﬁ@mﬁwammaﬁﬁq:
7,28, 63, 124, 215, 342, 511

(a) 7 (b) 28

(c) 124 (d) 215

ﬁ%@aﬁﬁﬁ-mmw%w%g
o =1 e T 2 7

(a) e fafy
(b) ¥ wd gfe
(c) @a:wiy

(d) T
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100.

¥ Statement : Should only one company

be allowed to run the transport system
in a big city ?
Arguments :

I. Yes. This will put an end to unhealthy
competition among different
companies.

II. No. The travellers should be given
a wider choice of transport system.

Which of the above argument(s) is/are
strong ?

Answer with the help of codes given
below :

Codes :

(a) Only argument I is strong

(b) Only argument II is strong

(c) Both arguments I and II are strong

(d) Neither argument I nor argument II
is strong

Choose the odd one among the following.
(a) 15t August

(b) 26t November

(c) 14t November

(d) 26t January

Feedback is used to effectively manage
behaviour and improve performance. It
is a form of

(a) mass communication
(b) informal communication
(c) interpersonal communication

(d) group communication

98.

99.

100.

SMRN-2 - 21
woe ; 1 el o8 TR § hae T FEE
ATATATA AT shl T shi STATT &1 =R ?
e

1. & | 3o fafir sheafdt 3 mea Sarett
STy wiereast s 31=d &1 S |
1. & | NP ot AT ST 3 Hed ST

TS 39T AT =R |
IR{Fd qh # HiA-91/F T T 8 /7 7
Frafafiad e 3 muR W IW T |
%2 :
(a) Faet e 1 99 &
(b) et T 11 99T &
(c) Bt aeh 1 31 11 e ©
(d) 7 & ek 1 31T & ek 11 WY §

Frefeiaa & & owa g |
(a) 15 3Td
(b) 26 Ta=R
(c) 14 A=
(d) 26 SR

R (SRR 3T ool &9 & R o Fae

. T I bl S T T BT € | 8 Yo

(a)GFTGTa'EWT?n’T

(b) AT TEITT
() FATSAfeRTeh TEINUT T
(d) FHE T
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% DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.

2021
CODE : SMRN-2 - 21

SUBJECT : [ SERIES |
GENERAL STUDIES - II

Time : 2 Hours Max. Marks : 200
Write your Rolf Number In numbers

in the box —_—
In words

To mark Answer use Black Ball-point Pen only.

Candidate must read all the instructions carefully before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover
the original Answer-Sheet to the Invigilator.

IMPORTANT INSTRUCT
1. Answer all questions. All questions carry equal marks.

J 2. The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the
Answer-Sheet, otherwise the Answer-Sheet will not be evaluated and the candidate will be
solely responsible for it.

3. This Test Booklet contains 100 questions. Each question has four (4) options which are
given below the questions. Only one option is correct out of four, You are required to darken
the circle corresponding to the alternative which you consider to be the correct or most
appropriate answer in the Answer-Sheet by Black Ball-point Pen.

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space
for rough work given in the last two pages of Test Booklet.

S. If you happen to find that the Booklet issued to you does not have all the pages properly
printed or it has any other deficiency, then you need to approach the Invigilator to get another
Booklet of same Series and Code.

6. In this question booklet questions are printed in both English and Hindi languages. In case
of any ambiguity in the question, the English version of the question shall Prevail.

7. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE ANSWER SHEET,

(i) There are four alternatives for the answer to every question. For each question for which

a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as above
to that question.

(iii) Ifa question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
mé:mﬁﬁmﬁﬁmwg@w%nwmmwﬁl
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